8 7 6 5 4 3 2 1
REV NO.|ECN NO. | ZONE DESCRIPTION DATE APPRVD.

ITEMS NOT SHOWN TO SCALE, SOME ITEMS MAY APPEAR LARGER THAN NORMAL 2% SHPPING CRATE CHANSE | 6/21/20171 BRD

REPLA%E 28238 WITH 28273'
REPLACE 60635 WITH 60678,
3 799 REPLACE 60636 WITH 60680, |12/13/2019)  BRD

REPLACE 60650 WITH 60682
@ REMOVE 60651 & 60649. F

(2)(8) 2

= INSTALLATION | Product: [ Document & | Rev: |
= SEAKEEPER MANUALS [ SEAKEEPER [ smaze [ z |
F — " Product: Document #: | Rew: Page:
e = QUICK START - — -
= SEA KEEPER MANUALS PR S St SEAKEEPER GYRO WITH TOUCHSCREEN 00447 R 1 of1
DISPLAY ik £ T
SEAKEEPER MANUALS ARE AVAILASLE ON THE SEAKEEPER WESSITE |start-up
WWW SEAREEFER.COM,/TECHNICAL-LIERARY 1} Turn on the power to the Seakeeper
SELECT ¥OUR SEAXEEPER MODEL AND DOWNLOAD THE INSTALLATION, OPERATION AND DRAWING 2) When the power is furned on, the DISPLAY will initislize snd the HOME soreen will sppear.
MANUALS. THESE MUST SE THORDUGHKLY READ THROUGH BEFORE ATTEMPTING TO INSTALL OR OPERATE. 2 ]
Installation Manual Operation Manual
Mechanical installation & PC-120 Guide System Overview T fismthe. Jeakieeper. o, ress the power CO/ON E
Electrical installation System Operation HOean: NS BUtion M Chus,
Coaling Installztion Power Failures, Alarms, and Troubleshaating
Startup Maintenance
nstallation Checklist and Required Supplies Warranty, Limit of Liability, Property Rights
Specs and Summary
the minimu o s its
Drawing Ma“ual speed the stabilize bution will app=ar. At this podnt, speed, the progress ber will disappesr and the
. the Seakeeper is avsilable for stabilizati Seskeaper is svailzble for masimun stabilizstion.
‘Contains referenced
installation drawings
Stabilization
For stabilization st ses or at anchor after the per is abowe the P g speed:
Press the stabilize button. The button will turn blus
indizating that the Seakeeper is ilizi roll mation.
Shut-Down
1} The Seskesper should be stopped when sishilizstion i= no longer required. Once the vessel is secured in the
slip. switch the high current and low current DC power to the Seakeeper off  The fiywhesl will continue to spoal
I down to zero rpm.
44425 PECAN COURT, SUITE 151
CALIFORMIA, MARYLAND, 20619, L5.A D
PHONE: 410-326-1590
FaX: 410-326-1199
R —_—— Press On/Off button. The button wil tum grey Wher the Seskeeper is turned off the fiywhesl is still
E-MATL: customerservice@ seakeeper.com spinning, When the fywheel has come fo &
complete stop 0 RPM will appear on the service
=zcreen indicating that the flywhesal has stopped. It
may take 2-8 hours to resch 0 RPM. Pleasa refer to
ha mianual for your pajoylar Seskeepsr model
Pagelof2

16 90447  [TOUCHSCREEN QUICK START GUIDE ]
15 90395 SK6 PACKING LIST ]
> > 14 90336 SEAKEEPER ELECTRONIC MANUAL DOCUMENT ]
3 13 60682 3/8" FLAT WASHER, ZNC PLT STL 4
NIE 60680  |SCREW, HEX HD CAP, 3/8-16 X 3.5" LG, GR 5 4
> o 3 1] 60679 [1/2"LAG SCREW, 7" LONG 4
3\| 10 60678  |3/8" FLAT WASHER, NYLON 4
9 60485 SCREW, BUTTON HD SKT CAP, M10-1.5 X 16MM LG 2
o ‘ 8 60484 WASHER, FLAT, .750D X .375ID X .062THK 2 B
‘*.- ' 7 60359 1/2" FLAT WASHER, STEEL 4 /3
q N o ﬂjj 6 40513  |SK6 DECAL SHEET ]
5 40512  |SK6 SERIAL PLATE 1
< 4 40481  |ZINC ANODE DECAL 2
! 3 40446 ZINC ANODE, 3/8" NPT PLUG, 1/2"DIA X 1.25" LG 2  |SPARES
N 3 2 12268  |SK6 COLLAPSIBLE SHIPPING CRATE ]
q p; DECALS ARE TO BE APPLIED 1 12134 SK6 SHIPPING CRATE COMPONENTS 1 WOOD & FOAM
TO GYRO AT FINAL ASSEMBLY
',I,E(g’_‘ PART NO. DESCRIPTION QTY. NOTE
PROPRIETARY AND CONFIDENTIAL ®
bjj THE INFORMATION CONTAINED IN THIS s SEAKEEPER
DSRQXYJEEPIEJ m%%%%ﬁﬁ%%? F Seakeeper Inc. 44425 Pecan Court, Suite 151 California, MD 20619 A
REPRODUCTION IN PART OR AS AWHOLE [NAME:
WEIGHT - LBS - WITHOUT THE WRITTEN PERMISSION OF
e SEAKEEPER IS PROHIBITED. SK6/5 OTH ER SUB_SYSTEM’
MATERIAL: DRAWN: DATE: SERV|CE REFERENCE
WHK | 14SEP2016
. ENG APPR: DATE: DWG NUMBER REV. NO.| SHEET NO.
PROD APPR: DATE: 1 1 675-SP 3 1 OF 1




	Sheet1
	Drawing View2
	Drawing View3


